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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 What do you mean by dividend policy.

		  bm^m§e Zr{V go AmnH$m ³¶m Ame¶ h¡?
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	 (ii)	 What is finance function?

		  {dËV H$m¶© go ³¶m VmËn¶© h¡?

	 (iii)	 Define time value of money.

		  ‘wÐm H$m g‘¶ ‘yë¶ H$mo n[a^m{fV H$s{OE&

	 (iv)	 Define operating cycle.

		  n[aMmbZ MH«$ H$mo n[a^m{fV H$s{OE&

	 (v)	 What are the objectives of inventory management?

		  ñH$ÝY à~ÝY Ho$ CÔoí¶ ³¶m h¡?

	 (vi)	 What is techno-economic feasibility report?

		  VH$ZrH$s-Am{W©H$ gå^mì¶Vm à{VdoXZ ³¶m h¡?

	 (vii)	Distinguish between explicit and implicit costs.

		  ñnîQ> Am¡a AñnîQ> bmJVm| Ho$ ~rM AÝVa H$s{O¶o&

	 (viii)	What is wealth maximization?

		  gånXm A{YH$V‘rH$aU ³¶m h¡?

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&
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2)	 Explain the various types of dividend policy.

	 bm^m§e Zr{V Ho$ {d{^ÝZ àH$ma g‘PmBE&

3)	 Annual demand for a particular items of inventory is 10,000 

units. Inventory carrying cost per unit per year is 20% and 

ordering cost is Rs. 40 per order. The price quoted by the 

supplier is Rs. 4 per unit. However the supplier  is willing to give 

discount of 5% for order of 15,00 or more unit. Is it worthwhile  

to avail of the discount offer?

	 ñH§$ÝY H$s EH$ {deof ‘X H$s dm{f©H$ ‘m±J 10,000 B©H$mB©¶m± h¡& ñH$ÝY 

aIZo H$s bmJV à{V df© à{V B©H$mB© 20% h¡ VWm AmXoe XoZo H$s bmJV 

à{V AmXoe 40 é. h¡& ny{V©H$Vm© Ûmam CÑY¥V ‘yë¶ 4 é. à{V B©H$mB© h¡ 

{H$ÝVw ny{V©H$Vm© 15,00 ¶m A{YH$ B©H$mB© Ho$ AmXoe na 5% Ny>Q> XoZo H$m 

BÀNw>H$ h¡& ³¶m ~Å>m àñVmd H$mo ñdrH¥$V H$aZm Mm{hE?

4)	 Explain the objectives of receivable management.

	 àmß¶m| Ho$ à~ÝY Ho$ CÔoí¶m| H$s ì¶m»¶m H$s{O¶o&

5)	 From the following information, extracted from the books of 

Ram manufacturing company, compute the  operating cycle 

period and working capital required:

	 am‘ {d{Z‘m©U H$ånZr H$s nwñVH$m| go àmßV {ZåZ{b{IV gyMZm go n[aMmbZ 

MH«$ Ad{Y VWm Amdí¶H$ H$m¶©erb ny§Or H$s JUZm H$s{O¶o&
	 Period covered : - 365 days

	 Average period allowed by suppliers : 16 days
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Rs.

1. Average total of debtors outstanding 48,000

2. Raw material consumption 4,40,000

3. Total production cost 10,00,000

4. Total cost of sales 10,50,000

5. Sales of the year 16,00,000

Value of average stock maintained:

Raw Material 32,000

Work-in-progress 35,000

Finished goods 26,000

6)	 Explain the elements of a project report.

	 n[a¶moOZm à{VdoXZ Ho$ VËdmo H$mo g‘PmBE&

7)	 What is optimal capital structure? Give its basic qualities.

	 AmXe© ny§Or g§aMZm go AmnH$m ³¶m VmËn¶© h¡? BgH$s ‘yb^yV {deofVmAm| 
H$m dU©Z H$s{OE&

8)	 What is average rate of return? Give the procedure of 

calculating it.

	 Am¡gV àË¶m¶ Xa ³¶m h¡? BgH$s JUZm H$s {d{Y ~VmBE&

9)	 Explain briefly the various sources of long term financing of 

Indian Industries.

	 ^maVr¶ CÚmoJmo Ho$ XrK©H$mbrZ {dÎm àmßV Ho$ {d{^ÝZ gmYZm| H$s g§{jßV 
ì¶m»¶m H$s{O¶o&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 What is cash management? Describe various objectives of 

cash management and also discuss elements determining 

level of cash.

	 amoH$S> à~ÝY ³¶m h¡? amoH$S> à~ÝY Ho$ {d{^ÝZ CÔoí¶m| H$s ì¶m»¶m 
H$s{O¶o& VWm amoH$S> ñVa H$mo {ZYm©[aV H$aZodmbo VËdm| H$s MMm© H$s{O¶o&

11)	 Detail statement of Preksha Ltd. is given below, and it is based 

on the production level of 40,000 units:

	 àojm {b{‘Q>oS> H$m {díbofUmË‘H$ {ddaU ZrMo {X¶m J¶m h¡, ¶h 40,000 
B©H$mB¶m| Ho$ CËnmXZ ñVa na AmYm[aV h¡&
Sales 4,80,000
Variable Cost 2,80,000
Revenue before fixed cost 2,00,000
Fixed Cost 1,20,000

80,000
Interest 30,000
Earning before tax 50,000
tax 25,000

25,000



387

MCOM-04 / 700 / 6 	 (6)	

	 Calculate 	 (i) Operating leverage

				    (ii) Financial leverage

				    (iii) Combined leverage

	 JUZm H$s{OE: 	 A) n[aMmbZ CÎmmobH$

				    ~) {dÎmr¶ CÎmmobH$

				    g) g§¶w³V CÎmmobH$

12)	 Write short notes on the following:

	 (i)	 Equity Shares

	 (ii)	 Types of capital budgeting decisions.

	 {ZåZ{b{IV na g§{jßV {Q>ßn{U¶m± {b{I¶o:
	 A)	 g‘Vm A§e
	 ~)	 ny±Or ~OQ>Z {ZU©¶mo Ho$ àH$ma

13)	 Define financial management and discuss its main functions.

	 {dÎmr¶ à~ÝY H$s n[a^mfm Xr{O¶o Am¡a BgHo$ à‘wI H$m¶m} H$m dU©Z 
H$s{O¶o&


